
Determine	
  the	
  center	
  of	
  mass	
  of	
  
the	
  four	
  bodies	
  in	
  the	
  system.	
  

1.)	
  

Problem	
  9.37	
  

 

ycm =
miyi∑

mtotal

     = m1y1 + m2y2 + m3y3 + m4y4

m1 + m2 + m3 + m4

     = 4.00 kg( ) −.500 m( ) + 2.50 kg( ) 0 m( ) + 3.00 kg( ) 2.50 m( ) + 2.00 kg( ) 3.00 m( )
4.00 kg( ) + 2.50 kg( ) + 3.00 kg( ) + 2.00 kg( )

     = 1.00 m

                            ⇒          !rcm = 0.0 î +1.00 ĵ( )m

m1 = 4kg

m4=2kg

y2=0

y3=2.5m

y1= − .5m
m2 = 2.5kg

y4=3m

m3=3kg


